Q1.

A)
nage (Gzipcode=02125 CUStomerS)
B)
T[manufacturer ((nvin (Gprice>30,0005ales)) ™ Vehides)
Q)
Tage (T[cid (T[vin (Umanufacturer=IHondalvehiCleS) X Sales) X Customers)
D)

Tzipcode (T[Cid (T[Cid,ViTl(o-PTiCeSZO.OOO Sales) ™ Omanufacturer="Honda' " seats= 6/V€thl€S) X CuStomerS)

E)
Tsipcode (Mcid (Myin (Oseats=2 Vehicles)  Sales) x Customers)
U
nzipcode(ncid (UpriceESO,OOO Sales) X CuStomerS)
F)
nage((na-d (Sales) — meiq (amanufacturer<>,pord,Vehicles A Sales)) > Customers)
G)
Tmanufacturer (Ozipcode=02125 Customers i Sales  Vehicles)
— Tmanufacturer (OagessoCustomers i Sales x Vehicles)
H)

p(TMP1,Sales)
p(TMP2,Sales)
p(TMP3' ﬂvinsales - 7rTMP1.vin(TIV[P:l M TMPp1.price<TMP2.price TMPZ))

Tmanufacturer,year (TMP3 X VehiCleS)



p(C1, Customers)
p(C2, Customers)
p(C3, g Customers — ey ¢iq (C1 Meq ggesca.age C2))
p(SalesYoungest, C3 X Sales)
p(S81,SalesYoungest)
p(82,SalesYoungest)
p(S3, mymSalesYoungest — sy yin (S1 M1 price<s2price S2))

Tmanufacturer (53 X VehiCIES)



Q2.

A)
nsname(nsid(agmde:loEnrolled) X Students)
B)
Tage(Tsia (Mcia (Ocreaits=3Courses) X Enrolled) x Students)

Q)

Tsname Tsia Teid (Ocname=rcaicuius:CoUurses) = Enrolled) = Students)
D)

Tsname Tsia (Teia (Ocredits<aCourses) x agmdengnrolled) X Students)
E)

nsname((nsid (Enrolled) — nsid(ogmde<>10Enrolled)) X Students)

F)

nsname((nsid(ncid(acredit5=3Courses) > Enrolled) U nsid(agmde:loEnrolled)) [ Students)
G)

Tage ((nsid(Enrolled M Ocname="Calculus"COUTSeS) — Tgg(Enrolled X Ogpogirs=qCourses))

xS tudents)

p(Enr1, Enrolled)

p(Enr2, Enrolled)

ﬂsname((nsid (Enrolled) — MEnrisid (Enrl N(Enrl.sid:Enrz.sid)"(Enrl.cid<>Enr2.cid) Ean)) X Students)

p(TMP1, Courses)

p(TMP2, Courses)
p(TMP3, 1 iqCourses — rypy.cia(TMP1 M1ypy creaits<tmpa.creaits T MP2))

Tgrqae (TMP3 > Enrolled)



